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4a. Match the pairs of cards that have a
difference of 8.
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4b. Match the pairs of cards that have a
difference of é.
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5d. Jon has 15 grapes. He gives 9 to
Hannah.

Jon says,
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two numbers is 8.
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The difference between the
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Do you agree? Explain your answer.
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5b. Molly has 13 sweets. She gives 7 to
Ben.

Molly says,

'A‘ The difference between the
= two numbers is 6.

Do you agree? Explain your answer.
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6a. There are 14 birds sitting in a tree.
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Some fly away. Now there are less than
10 left.

6b. There are 12 biscuits in a pack.

Some have been eaten. Now there are
less than 10 left.
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How many birds might have flown away?
Give 3 examples.
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How many biscuits might have been
eaten? Give 3 examples.
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